Name:

Period:

0.5 Simplifying, Multiplying and Dividing Rational Expressions

Directions: Find the domain for each expression.

1. dp)=y+3 2. glh) =2k + 4k -6

3.b(n)= 2n-8

4. m{!)z-d'9-31 5. u(x):-..- xX-3 6. a(;)__; +_]_
2x+4 =1
w4 & R X N —
7. qn)=—r— 8% f(3)= == 9% f(r) = Jr? +2v =8
) XeR DXR. 3 820 1) 9322, 5)rd O
n2 =
are  fza B
: oot Qﬁt S S
é) (,/ 0 7) W +| +0p g/) 47> q _—
r#] 7 | 4y =% 2 o
S’H/Jt'é 2) {2‘3 P
SEW L0, V-2 > o
wWe L, /4*_:4;_1”}4/
(.f

Directions: Simplify and find the domain of each expression.
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23. Find the domain of the expression.
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24. Find the domain of the expression.
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26. Simplify and find the domain. D+
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